BID OPENING DATE: BID OPENING LOCATION: TABULATION BY:

TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE ARTAVIA EAST DRAINAGE CHANNELS PHASE 3 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 157 (MASTER DISTRICT)

CITY OF CONROE E.T.J. MONTGOMERY COUNTY, TEXAS

MAY 7, 2024 LJA ENGINEERING, INC. L. MARTINEZ

MAY 7, 2024 1968-16009 (9.2)

TOTAL AMOUNT BID

BIDDER'S NAME

1) KEAN CONSTRUCTION, LLC	\$1,153,586.00
2) DC CONTRACTING SERVICES, LLC	\$1,190,130.00
3) CLEARX, LLC	\$1,208,076.21
4) REBEL CONTRACTORS, INC.	\$1,327,109.50
5) HARRIS CONSTRUCTION COMPANY, LLC	\$1,338,374.45
6) TEXAN DIRT, LLC	\$1,437,903.00
7) PRECISE SERVICES, INC.	\$1,479,040.50
8) CHOCTAW CONSTRUCTION SERVICES, LLC	\$1,674,430.15
9) TMW ALL SERVICES, LLC DBA TMW LAND SERVICES	\$1,735,543.00

CALENDAR DAYS 60/70

RESLEY A. LUNDQUIST

5-13-2024

these bid tabulations to be true and correct.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE ARTAVIA EAST DRAINAGE CHANNELS PHASE 3 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 157 (MASTER DISTRICT) CITY OF CONROE E.T.J. MONTGOMERY COUNTY, TEXAS

MAY 7, 2024 LJA ENGINEERING, INC.

L. MARTINEZ MAY 7, 2024 1968-16009 (9.2)

1) KEAN CONSTRUCTION, LLC 2) DC CONTRACTING SERVICES, LLC

3) CLEARX LLC

				1,112,111 00110111	.0011011, 220	2/20 00:1110:01:110	02.11.020, 220	0,022,00	, 220
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
MONTGOMERY COUNTY M.U.D. NO. 157 BASE BID ITEMS									
CHANNELS EXCAVATION	ON WITHIN EAST AND SOUTHEAST DRAINAGE CHANNELS PER TYPICAL SECTIONS ON SHEETS 11 & 12, INCLUDES BACKSLOPE SWALE DN, FINAL GRADING, STRIPPING, STOCKPILING OF STRIPPINGS, AND IG STRIPPINGS TO EXCAVATED AREA, COMPLETE IN PLACE	CY	125800	\$1.00	\$125,800.00	\$1.00	\$125,800.00	\$1.82	\$228,956.00
PROCTOR I	INCLUDES HAUL, PLACE AND COMPACT TO 95% STANDARD DENSITY, FINAL GRADING, STOCKPILING OF STRIPPINGS AND IG STRIPPING TO AREA, COMPLETE IN PLACE	CY	9100	\$2.00	\$18,200.00	\$1.00	\$9,100.00	\$1.82	\$16,562.00
COMPACT E CHANNELS INDENTIFIE STRIPPING	ROAD (NO GREATER THAN 2 MILES ROUND TRIP), PLACE AND EXCAVATION FROM THE EAST AND SOUTHEAST DRAINAGE TO FILL AREA TO 95% STANDARD PROCTOR DENSITY AS D ON SHEET 4 & 4A, INCLUDES STRIPPING, STOCKPILING OF S, DEMUCKING AS NECESSARY, PROOFROLL, FINAL GRADING AND INTON OF STRIPPINGS, COMPLETE IN PLACE	CY	116700	\$2.00	\$233,400.00	\$2.90	\$338,430.00	\$1.82	\$212,394.00
PIPE, 24" W	E INTERCEPTOR STRUCTURE, INCLUDES 24" CORRUGATED METAL IDE BAND COUPLER, FABRICATED ELBOW, BEDDING AND BACKFILL, ICK RIP-RAP SLOPE PROTECTION FOR OUTFALL AT CHANNEL BANK, IN PLACE	EA	19	\$15,500.00	\$294,500.00	\$11,950.00	\$227,050.00	\$9,774.17	\$185,709.23
5 18-INCH TH	ICK CONCRETE RIP RAP, COMPLETE IN PLACE	SY	2659	\$88.00	\$233,992.00	\$88.00	\$233,992.00	\$99.90	\$265,634.10
	IRD FIBER MATRIX BALE MIX AT 3000 LB PER ACRE RATE, INCLUDES (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), IN PLACE	AC	12.7	\$2,500.00	\$31,750.00	\$4,300.00	\$54,610.00	\$4,675.00	\$59,372.50
	D CONCRETE ACCESS ROAD WITH GEOFABRIC (MIRAFI 500 OR EQUAL), PER CROSS-SECTION ON SHEET 6, COMPLETE IN PLACE	SY	3769	\$21.00	\$79,149.00	\$21.00	\$79,149.00	\$20.43	\$77,000.67
OUTSIDE C	'ASH STABILIZED SUB-GRADE (MANIPULATION), EXTENDING 2' RUSHED CONCRETE, INCLUDES COMPACTION TO 95% MODIFIED DENSITY,COMPLETE IN PLACE	SY	4712	\$7.00	\$32,984.00	\$4.00	\$18,848.00	\$4.97	\$23,418.64
	LIME FOR STABILIZED SUB-GRADE (20 LB/SY), AS REQUIRED BY SOIL IS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN	TON	47	\$200.00	\$9,400.00	\$275.00	\$12,925.00	\$357.23	\$16,789.81
	OR STABILIZED SUB-GRADE, (53 LB/SY), AS REQUIRED BY SOIL IS AND APPROVED BY ENGINEER, COMPLETE IN PLACE	TON	125	\$200.00	\$25,000.00	\$275.00	\$34,375.00	\$140.13	\$17,516.25
	ND DISPOSE OF LOW WATER CROSSING, INCLUDES PIPE AND DIRT COMPLETE IN PLACE	EA	2	\$500.00	\$1,000.00	\$3,370.50	\$6,741.00	\$2,546.50	\$5,093.00
	URVEY OF FILL AREAS AND CHANNEL (WORK TO BE PERFORMED BY YING, INC.), COMPLETE IN PLACE	LS	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$11,000.00	\$11,000.00
MONTGOMERY C	OUNTY M.U.D. NO. 157 BASE BID ITEMS SUBTOTAL:				\$1,095,175.00		\$1,151,020.00		\$1,119,446.20
MONTGOMERY C	OUNTY M.U.D. NO. 157 MISCELLANEOUS ITEMS								
	O CONSTRUCTION EXIT, INCLUDES INSTALLATION, MAINTENANCE AND COMPLETE IN PLACE	EA	1	\$1.00	\$1.00	\$3,300.00	\$3,300.00	\$3,300.00	\$3,300.00
	TER POLLUTION INSPECTION REPORTS CONDUCTED ON A WEEKLY ORDING TO TCEQ PERMIT, COMPLETE IN PLACE	LS	1	\$500.00	\$500.00	\$1,750.00	\$1,750.00	\$1,320.00	\$1,320.00
3 FURNISH PI COMPLETE	ERFORMANCE AND PAYMENT BONDS PER CONTRACT DOCUMENTS, IN PLACE	LS	1	\$50,000.00	\$50,000.00	\$19,500.00	\$19,500.00	\$45,769.80	\$45,769.80

Page 2 of 7

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE ARTAVIA EAST DRAINAGE CHANNELS PHASE 3
MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 157 (MASTER DISTRICT)
CITY OF CONROE E.T.J.
MONTGOMERY COUNTY, TEXAS
MAY 7, 2024
LJA ENGINEERING, INC.
L. MARTINEZ

1) KEAN CONSTRUCTION, LLC

MAY 7, 2024

1968-16009 (9.2)

2) DC CONTRACTING SERVICES, LLC

3) CLEARY LLC

			,		•			
ITEM DESCRIPTION	UNIT	T QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
4 PIPELINE COORDINATION WITH EXPLORER, PENNZOIL, UNITED GAS SI KINDER MORGAN REPRESENTATIVE, (TO BE USED ONLY AT THE DIREC THE ENGINEER), COMPLETE IN PLACE		1	\$500.00	\$500.00	\$2,000.00	\$2,000.00	\$0.01	\$0.01
5 MATS FOR PIPELINE CROSSING FOR HAULING DIRT OFFISTE, INCLUDE INSTALLATION, MAINTENANCE, AND REMOVAL, (TO BE USED ONLY AT WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE		1	\$5,000.00	\$5,000.00	\$8,500.00	\$8,500.00	\$30,396.30	\$30,396.30
6 EXTRA CEMENT STABILIZED SAND BACKFILL, (2.0 SACKS PER TON), (TONLY AT THE DIRECTION OF ENGINEER) COMPLETE IN PLACE	O BE USED CY	10	\$15.00	\$150.00	\$15.00	\$150.00	\$34.19	\$341.90
7 EXTRA COST OF STORM SEWER WET SAND CONSTRUCTION, ALL LINE AND DEPTHS, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEE COMPLETE IN PLACE		100	\$5.00	\$500.00	\$5.00	\$500.00	\$12.21	\$1,221.00
8 EXTRA HYDRO-MULCH SEEDING, (TO BE USED ONLY AT THE DIRECTIC ENGINEER), COMPLETE IN PLACE	ON OF THE AC	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,815.00	\$1,815.00
9 EXTRA BROADCAST SEEDING, (TO BE USED ONLY AT THE DIRECTION ENGINEER), COMPLETE IN PLACE	OF THE AC	1	\$450.00	\$450.00	\$450.00	\$450.00	\$715.00	\$715.00
10 EXTRA REINFORCED FILTER FABRIC FENCE, (TO BE USED ONLY AT TH DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	IE LF	100	\$1.00	\$100.00	\$1.00	\$100.00	\$2.20	\$220.00
11 EXTRA FILTER FABRIC FENCE, (TO BE USED ONLY AT THE DIRECTION ENGINEER), COMPLETE IN PLACE	OF THE LF	100	\$1.00	\$100.00	\$1.00	\$100.00	\$2.20	\$220.00
12 EXTRA BURLAP BAG BARRIER ON INLET, (TO BE USED ONLY AT THE D OF THE ENGINEER), COMPLETE IN PLACE	IRECTION EA	1	\$10.00	\$10.00	\$10.00	\$10.00	\$11.00	\$11.00
13 TYPE 3 ROCK FILTER DAM, (TO BE USED ONLY AT THE DIRECTION OF ENGINEER), COMPLETE IN PLACE	THE EA	1	\$100.00	\$100.00	\$1,750.00	\$1,750.00	\$3,300.00	\$3,300.00
MONTGOMERY COUNTY M.U.D. NO. 157 MISCELLANEOUS ITEMS SUBTOTAL:				\$58,411.00		\$39,110.00		\$88,630.01
BIDDING SUMMARY								
SUBTOTAL MONTGOMERY COUNTY M.U.D. NO. 157 BASE BID ITEMS				\$1,095,175.00		\$1,151,020.00		\$1,119,446.20
SUBTOTAL MONTGOMERY COUNTY M.U.D. NO. 157 MISCELLANEOUS ITEMS				\$58,411.00		\$39,110.00		\$88,630.01
TOTAL AMOUNT BASE BID				\$1,153,586.00		\$1,190,130.00		\$1,208,076.21

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE ARTAVIA EAST DRAINAGE CHANNELS PHASE 3 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 157 (MASTER DISTRICT) CITY OF CONROE E.T.J. MONTGOMERY COUNTY, TEXAS MAY 7, 2024 LJA ENGINEERING, INC.

L. MARTINEZ MAY 7, 2024 1968-16009 (9.2)

			4) REBEL CONTR	ACTORS, INC.	5) HARRIS CONSTRUCT	TION COMPANY, LLC	6) TEXAN D	IRT, LLC
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
MONTGOMERY COUNTY M.U.D. NO. 157 BASE BID ITEMS								
1 EXCAVATION WITHIN EAST AND SOUTHEAST DRAINAGE CHANNELS PER TYPICAL CHANNELS SECTIONS ON SHEETS 11 & 12, INCLUDES BACKSLOPE SWALE EXCAVATION, FINAL GRADING, STRIPPING, STOCKPILING OF STRIPPINGS, AND REAPPLYING STRIPPINGS TO EXCAVATED AREA, COMPLETE IN PLACE	_ CY	125800	\$2.25	\$283,050.00	\$1.75	\$220,150.00	\$1.00	\$125,800.00
2 BANK FILL, INCLUDES HAUL, PLACE AND COMPACT TO 95% STANDARD PROCTOR DENSITY, FINAL GRADING, STOCKPILING OF STRIPPINGS AND REAPPLYING STRIPPING TO AREA, COMPLETE IN PLACE	CY	9100	\$3.00	\$27,300.00	\$1.00	\$9,100.00	\$2.00	\$18,200.00
3 HAUL OFF-ROAD (NO GREATER THAN 2 MILES ROUND TRIP), PLACE AND COMPACT EXCAVATION FROM THE EAST AND SOUTHEAST DRAINAGE CHANNELS TO FILL AREA TO 95% STANDARD PROCTOR DENSITY AS INDENTIFIED ON SHEET 4 & 4A, INCLUDES STRIPPING, STOCKPILING OF STRIPPINGS, DEMUCKING AS NECESSARY, PROOFROLL, FINAL GRADING AND REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	116700	\$3.50	\$408,450.00	\$1.85	\$215,895.00	\$2.15	\$250,905.00
4 BACKSLOPE INTERCEPTOR STRUCTURE, INCLUDES 24" CORRUGATED METAL PIPE, 24" WIDE BAND COUPLER, FABRICATED ELBOW, BEDDING AND BACKFILL, AND 18" THICK RIP-RAP SLOPE PROTECTION FOR OUTFALL AT CHANNEL BANK, COMPLETE IN PLACE	EA	19	\$6,000.00	\$114,000.00	\$16,625.00	\$315,875.00	\$13,000.00	\$247,000.00
5 18-INCH THICK CONCRETE RIP RAP, COMPLETE IN PLACE	SY	2659	\$90.00	\$239,310.00	\$105.00	\$279,195.00	\$105.00	\$279,195.00
6 EARTHGUARD FIBER MATRIX BALE MIX AT 3000 LB PER ACRE RATE, INCLUDES WATERING (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	12.7	\$3,500.00	\$44,450.00	\$8,500.00	\$107,950.00	\$8,300.00	\$105,410.00
7 6" CRUSHED CONCRETE ACCESS ROAD WITH GEOFABRIC (MIRAFI 500 OR APPROVED EQUAL), PER CROSS-SECTION ON SHEET 6, COMPLETE IN PLACE	SY	3769	\$21.50	\$81,033.50	\$22.25	\$83,860.25	\$35.00	\$131,915.00
8 8" LIME/FLY-ASH STABILIZED SUB-GRADE (MANIPULATION), EXTENDING 2' OUTSIDE CRUSHED CONCRETE, INCLUDES COMPACTION TO 95% MODIFIED PROCTOR DENSITY, COMPLETE IN PLACE	SY	4712	\$5.00	\$23,560.00	\$4.10	\$19,319.20	\$14.00	\$65,968.00
9 HYDRATED LIME FOR STABILIZED SUB-GRADE (20 LB/SY), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	47	\$230.50	\$10,833.50	\$360.00	\$16,920.00	\$350.00	\$16,450.00
10 FLY ASH FOR STABILIZED SUB-GRADE, (53 LB/SY), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY ENGINEER, COMPLETE IN PLACE	TON	125	\$230.50	\$28,812.50	\$140.00	\$17,500.00	\$400.00	\$50,000.00
11 REMOVE AND DISPOSE OF LOW WATER CROSSING, INCLUDES PIPE AND DIRT BACKFILL, COMPLETE IN PLACE	EA	2	\$3,000.00	\$6,000.00	\$5,000.00	\$10,000.00	\$20,000.00	\$40,000.00
12 AS-BUILT SURVEY OF FILL AREAS AND CHANNEL (WORK TO BE PERFORMED BY LJA SURVEYING, INC.), COMPLETE IN PLACE	LS	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
MONTGOMERY COUNTY M.U.D. NO. 157 BASE BID ITEMS SUBTOTAL:				\$1,276,799.50		\$1,305,764.45		\$1,340,843.00
MONTGOMERY COUNTY M.U.D. NO. 157 MISCELLANEOUS ITEMS								
1 STABILIZED CONSTRUCTION EXIT, INCLUDES INSTALLATION, MAINTENANCE AND REMOVAL, COMPLETE IN PLACE	EA	1	\$4,500.00	\$4,500.00	\$2,400.00	\$2,400.00	\$1,200.00	\$1,200.00
2 STORMWATER POLLUTION INSPECTION REPORTS CONDUCTED ON A WEEKLY BASIS ACCORDING TO TCEQ PERMIT, COMPLETE IN PLACE	LS	1	\$7,500.00	\$7,500.00	\$1,500.00	\$1,500.00	\$500.00	\$500.00
3 FURNISH PERFORMANCE AND PAYMENT BONDS PER CONTRACT DOCUMENTS, COMPLETE IN PLACE	LS	1	\$20,000.00	\$20,000.00	\$18,000.00	\$18,000.00	\$80,000.00	\$80,000.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE ARTAVIA EAST DRAINAGE CHANNELS PHASE 3
MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 157 (MASTER DISTRICT)
CITY OF CONROE E.T.J.
MONTGOMERY COUNTY, TEXAS
MAY 7, 2024
LJA ENGINEERING, INC.
L. MARTINEZ
MAY 7, 2024

				4) REBEL CONTRACTORS, INC.		5) HARRIS CONSTRUCTION COMPANY, LLC		6) TEXAN DIRT, LLC	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	/ITH EXPLORER, PENNZOIL, UNITED GAS SERVICE, NTATIVE, (TO BE USED ONLY AT THE DIRECTION OF E IN PLACE	LS	1	\$5,000.00	\$5,000.00	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00
INSTALLATION, MAINTENAN	SING FOR HAULING DIRT OFFISTE, INCLUDES CE, AND REMOVAL, (TO BE USED ONLY AT THE E ENGINEER), COMPLETE IN PLACE	LS	1	\$7,500.00	\$7,500.00	\$3,500.00	\$3,500.00	\$9,500.00	\$9,500.00
	O SAND BACKFILL, (2.0 SACKS PER TON), (TO BE USED FENGINEER) COMPLETE IN PLACE	CY	10	\$15.00	\$150.00	\$15.00	\$150.00	\$30.00	\$300.00
	WER WET SAND CONSTRUCTION, ALL LINE SIZES ONLY AT THE DIRECTION OF THE ENGINEER),	LF	100	\$5.00	\$500.00	\$5.00	\$500.00	\$5.00	\$500.00
8 EXTRA HYDRO-MULCH SEEI ENGINEER), COMPLETE IN F	DING, (TO BE USED ONLY AT THE DIRECTION OF THE PLACE	AC	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$2,700.00	\$2,700.00
9 EXTRA BROADCAST SEEDIN ENGINEER), COMPLETE IN F	NG, (TO BE USED ONLY AT THE DIRECTION OF THE PLACE	AC	1	\$450.00	\$450.00	\$450.00	\$450.00	\$1,100.00	\$1,100.00
10 EXTRA REINFORCED FILTER DIRECTION OF THE ENGINE	R FABRIC FENCE, (TO BE USED ONLY AT THE ER), COMPLETE IN PLACE	LF	100	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00
11 EXTRA FILTER FABRIC FENC ENGINEER), COMPLETE IN F	CE, (TO BE USED ONLY AT THE DIRECTION OF THE PLACE	LF	100	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00
12 EXTRA BURLAP BAG BARRII OF THE ENGINEER), COMPL	ER ON INLET, (TO BE USED ONLY AT THE DIRECTION ETE IN PLACE	EA	1	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00
13 TYPE 3 ROCK FILTER DAM, (ENGINEER), COMPLETE IN F	(TO BE USED ONLY AT THE DIRECTION OF THE PLACE	EA	1	\$3,500.00	\$3,500.00	\$2,400.00	\$2,400.00	\$50.00	\$50.00
MONTGOMERY COUNTY M.U.D. NO	D. 157 MISCELLANEOUS ITEMS SUBTOTAL:				\$50,310.00		\$32,610.00		\$97,060.00
BIDDING SUMMARY									
SUBTOTAL MONTGOMERY COUNT					\$1,276,799.50		\$1,305,764.45		\$1,340,843.00
SUBTOTAL MONTGOMERY COUNT	TY M.U.D. NO. 157 MISCELLANEOUS ITEMS				\$50,310.00		\$32,610.00		\$97,060.00
TOTAL AMOUNT BASE BID					\$1,327,109.50		\$1,338,374.45		\$1,437,903.00

1968-16009 (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE ARTAVIA EAST DRAINAGE CHANNELS PHASE 3 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 157 (MASTER DISTRICT) CITY OF CONROE E.T.J. MONTGOMERY COUNTY, TEXAS MAY 7, 2024 LJA ENGINEERING, INC.

MAY 7, 2024 LJA ENGINEERING L. MARTINEZ MAY 7, 2024 1968-16009 (9.2)

			7) PRECISE SEF	RVICES, INC.	8) CHOCTAW CONSTRI LLC		9) TMW ALL SERVI TMW LAND S	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
MONTGOMERY COUNTY M.U.D. NO. 157 BASE BID ITEMS								
1 EXCAVATION WITHIN EAST AND SOUTHEAST DRAINAGE CHANNELS PER TYPICAL CHANNELS SECTIONS ON SHEETS 11 & 12, INCLUDES BACKSLOPE SWALE EXCAVATION, FINAL GRADING, STRIPPING, STOCKPILING OF STRIPPINGS, AND REAPPLYING STRIPPINGS TO EXCAVATED AREA, COMPLETE IN PLACE	L CY	125800	\$2.25	\$283,050.00	\$1.90	\$239,020.00	\$3.75	\$471,750.00
2 BANK FILL, INCLUDES HAUL, PLACE AND COMPACT TO 95% STANDARD PROCTOR DENSITY, FINAL GRADING, STOCKPILING OF STRIPPINGS AND REAPPLYING STRIPPING TO AREA, COMPLETE IN PLACE	CY	9100	\$2.25	\$20,475.00	\$3.20	\$29,120.00	\$4.50	\$40,950.00
3 HAUL OFF-ROAD (NO GREATER THAN 2 MILES ROUND TRIP), PLACE AND COMPACT EXCAVATION FROM THE EAST AND SOUTHEAST DRAINAGE CHANNELS TO FILL AREA TO 95% STANDARD PROCTOR DENSITY AS INDENTIFIED ON SHEET 4 & 4A, INCLUDES STRIPPING, STOCKPILING OF STRIPPINGS, DEMUCKING AS NECESSARY, PROOFROLL, FINAL GRADING AND REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	116700	\$2.25	\$262,575.00	\$3.20	\$373,440.00	\$5.16	\$602,172.00
4 BACKSLOPE INTERCEPTOR STRUCTURE, INCLUDES 24" CORRUGATED METAL PIPE, 24" WIDE BAND COUPLER, FABRICATED ELBOW, BEDDING AND BACKFILL, AND 18" THICK RIP-RAP SLOPE PROTECTION FOR OUTFALL AT CHANNEL BANK, COMPLETE IN PLACE	EA	19	\$11,000.00	\$209,000.00	\$14,670.00	\$278,730.00	\$8,250.00	\$156,750.00
5 18-INCH THICK CONCRETE RIP RAP, COMPLETE IN PLACE	SY	2659	\$122.50	\$325,727.50	\$130.00	\$345,670.00	\$95.00	\$252,605.00
6 EARTHGUARD FIBER MATRIX BALE MIX AT 3000 LB PER ACRE RATE, INCLUDES WATERING (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	12.7	\$4,000.00	\$50,800.00	\$8,500.00	\$107,950.00	\$4,000.00	\$50,800.00
7 6" CRUSHED CONCRETE ACCESS ROAD WITH GEOFABRIC (MIRAFI 500 OR APPROVED EQUAL), PER CROSS-SECTION ON SHEET 6, COMPLETE IN PLACE	SY	3769	\$39.00	\$146,991.00	\$23.15	\$87,252.35	\$7.00	\$26,383.00
8 8" LIME/FLY-ASH STABILIZED SUB-GRADE (MANIPULATION), EXTENDING 2' OUTSIDE CRUSHED CONCRETE, INCLUDES COMPACTION TO 95% MODIFIED PROCTOR DENSITY, COMPLETE IN PLACE	SY	4712	\$4.75	\$22,382.00	\$15.65	\$73,742.80	\$4.00	\$18,848.00
9 HYDRATED LIME FOR STABILIZED SUB-GRADE (20 LB/SY), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	47	\$340.00	\$15,980.00	\$425.00	\$19,975.00	\$325.00	\$15,275.00
10 FLY ASH FOR STABILIZED SUB-GRADE, (53 LB/SY), AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY ENGINEER, COMPLETE IN PLACE	TON	125	\$140.00	\$17,500.00	\$350.00	\$43,750.00	\$340.00	\$42,500.00
11 REMOVE AND DISPOSE OF LOW WATER CROSSING, INCLUDES PIPE AND DIRT BACKFILL, COMPLETE IN PLACE	EA	2	\$27,500.00	\$55,000.00	\$2,425.00	\$4,850.00	\$1,000.00	\$2,000.00
12 AS-BUILT SURVEY OF FILL AREAS AND CHANNEL (WORK TO BE PERFORMED BY LJA SURVEYING, INC.), COMPLETE IN PLACE	LS	1	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
MONTGOMERY COUNTY M.U.D. NO. 157 BASE BID ITEMS SUBTOTAL:				\$1,419,480.50		\$1,613,500.15		\$1,690,033.00
MONTGOMERY COUNTY M.U.D. NO. 157 MISCELLANEOUS ITEMS								
1 STABILIZED CONSTRUCTION EXIT, INCLUDES INSTALLATION, MAINTENANCE AND REMOVAL, COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	\$8,500.00	\$8,500.00	\$2,500.00	\$2,500.00
2 STORMWATER POLLUTION INSPECTION REPORTS CONDUCTED ON A WEEKLY BASIS ACCORDING TO TCEQ PERMIT, COMPLETE IN PLACE	LS	1	\$2,500.00	\$2,500.00	\$1,450.00	\$1,450.00	\$1,200.00	\$1,200.00
3 FURNISH PERFORMANCE AND PAYMENT BONDS PER CONTRACT DOCUMENTS, COMPLETE IN PLACE	LS	1	\$25,500.00	\$25,500.00	\$23,000.00	\$23,000.00	\$22,000.00	\$22,000.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

TOTAL AMOUNT BASE BID

CONSTRUCTION OF THE ARTAVIA EAST DRAINAGE CHANNELS PHASE 3 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 157 (MASTER DISTRICT) CITY OF CONROE E.T.J. MONTGOMERY COUNTY, TEXAS MAY 7, 2024 LJA ENGINEERING, INC. L. MARTINEZ MAY 7, 2024

8) CHOCTAW CONSTRUCTION SERVICES, 9) TMW ALL SERVICES, LLC DBA 7) PRECISE SERVICES, INC. LLC TMW LAND SERVICES ITEM DESCRIPTION UNIT COST UNIT COST UNIT QTY TOTAL COST TOTAL COST UNIT COST TOTAL COST 4 PIPELINE COORDINATION WITH EXPLORER, PENNZOIL, UNITED GAS SERVICE, \$1,300.00 \$1,000.00 LS \$5,500.00 \$5,500.00 \$1,300.00 \$1,000.00 KINDER MORGAN REPRESENTATIVE, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE 5 MATS FOR PIPELINE CROSSING FOR HAULING DIRT OFFISTE, INCLUDES LS \$15,000,00 \$15,000,00 \$12.415.00 \$12,415.00 \$15,000,00 \$15,000.00 INSTALLATION, MAINTENANCE, AND REMOVAL, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE 6 EXTRA CEMENT STABILIZED SAND BACKFILL, (2.0 SACKS PER TON), (TO BE USED 10 \$15.00 \$150.00 \$18.00 \$180.00 \$15.00 \$150.00 ONLY AT THE DIRECTION OF ENGINEER) COMPLETE IN PLACE 7 EXTRA COST OF STORM SEWER WET SAND CONSTRUCTION, ALL LINE SIZES LF 100 \$5.00 \$500.00 \$5.00 \$500.00 \$500.00 \$5.00 AND DEPTHS, (TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE 8 EXTRA HYDRO-MULCH SEEDING, (TO BE USED ONLY AT THE DIRECTION OF THE \$1,000.00 \$1,000.00 AC. \$1,000.00 \$1,000.00 \$2,200,00 \$2,200.00 1 ENGINEER), COMPLETE IN PLACE 9 EXTRA BROADCAST SEEDING, (TO BE USED ONLY AT THE DIRECTION OF THE AC \$450.00 \$450.00 \$1,250.00 \$1,250.00 \$450.00 \$450.00 ENGINEER), COMPLETE IN PLACE 10 EXTRA REINFORCED FILTER FABRIC FENCE, (TO BE USED ONLY AT THE LF 100 \$1.00 \$100.00 \$2.50 \$250.00 \$1.00 \$100.00 DIRECTION OF THE ENGINEER), COMPLETE IN PLACE 11 EXTRA FILTER FABRIC FENCE, (TO BE USED ONLY AT THE DIRECTION OF THE 100 \$1.00 \$100.00 LF \$100.00 \$1.75 \$175.00 \$1.00 ENGINEER), COMPLETE IN PLACE 12 EXTRA BURLAP BAG BARRIER ON INLET, (TO BE USED ONLY AT THE DIRECTION EΑ \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 \$10.00 OF THE ENGINEER), COMPLETE IN PLACE 13 TYPE 3 ROCK FILTER DAM, (TO BE USED ONLY AT THE DIRECTION OF THE \$1,500.00 EΑ \$7,250.00 \$7,250.00 \$9,700.00 \$9,700.00 \$1,500.00 ENGINEER), COMPLETE IN PLACE MONTGOMERY COUNTY M.U.D. NO. 157 MISCELLANEOUS ITEMS SUBTOTAL: \$45.510.00 \$59,560.00 \$60,930.00 BIDDING SUMMARY SUBTOTAL MONTGOMERY COUNTY M.U.D. NO. 157 BASE BID ITEMS \$1,419,480.50 \$1,613,500.15 \$1,690,033.00 SUBTOTAL MONTGOMERY COUNTY M.U.D. NO. 157 MISCELLANEOUS ITEMS \$59.560.00 \$60.930.00 \$45,510,00

1968-16009 (9.2)

\$1,479,040.50

\$1,674,430.15

\$1,735,543.00